9

Gripping range 6-70 mm

Total max gripping force 300 daN

Max peripheral roller speed 730 m/min
Centering accuracy™ 0,02 mm
Repeatability 0,005 mm
Min operating pressure 10 bar

Max operating pressure 25 bar
Weight 8kg
Mounting holes** Same as SLU-1

rd AX Series

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.

85 (Both = B)

_ 15 (Upper=U)

pper arm, and dimensions of configuration U, L and B.

This drawing shows swing away uj

2151

781

_é) i
op

www.atling.se
O

i

; Check valve!

42 78

od "

Hydraulic open G14’4"\_\

Inductive sensor slots M8x1 (2x)s. Y \

Hydraulic close G1/4",

)

C]

. —

l 02O

€ DT}

of

Coolant water in G1/8" (EIXJ/

114,1




‘This drawing shows swing away upper arm, and dimensions of configuration U, L and B.

STANDARD AX SERIES

Gripping range 8-105 mm
Total max gripping force 1200 daN
Max peripheral rollerspeed 930 m/min
Centering accuracy™ 0.02 mm
Repeatability 0.005 mm
Min operating pressure 10 bar

Max operating pressure 60 bar
Weight 17kg
Mounting holes** Same as SLU-2

301
jx 200 o, 101 5
5 | s 85 -
| | .
| [}
@
{=1
i=3
=
o)
i !
K 1 B
m|
[} wl [
Slals [ B o oo
g2 | S ILSES
< |3 \S
-3 = %
g e
| T Check|valve
" | g
o
i
=
o4
I
Ol ~
~ ™
1 |CI | ui)
Hydraulic open G3/8"—
Hydraulic close G3/8" .~
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
' S 344 o
231 113
A (i e 102 S
=]
1 T
o
a1 1
[=%
=)
s
4 Check valve,
] ] —] \
A,
m|
" |
P =
3 8a 88K
e! “la e bl B
s
=
1
1
| = T T Q_
)
I , 00
o = 1
: \
=
w
Hydraulic open G3/8",
Hydraulic close G3/8", J|5-5_
S N | |
] —] N [1] I
[ — =. Sl 1 ®
| - | A o
Ris( e e H— {9t .

lo | o J{E)[_

Gripping range 12-125 mm
Total max gripping force 1200 daN
Max peripheral rollerspeed 930 m/min
Centering accuracy™ 0.04 mm
Repeatability 0.005 mm
Min operating pressure 10 bar
Max operating pressure 60 bar
Weight 23kg
Mounting holes** N/A

OPSPANSYSTEMEN

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.



I STANDARD AX SERIES

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

12-160 mm
3000 daN

805 m/min
0.04 mm
0.005 mm

20 bar

70 bar

45kg

Same as SLU-3

Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

12-160 mm
3000 daN

805 m/min
0.04 mm
0.005 mm

10 bar

70 bar

45kg

Same as SLU-3

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.

F. 334 )
L 290 . 1
5] 2 115 e 135 "
L]
a. )
[=1]
al
2 ]
(=]
I !
r
&
"
£ |3 W
o O - -
o s 3
o
2 {
[ Hydraulic open G3/8"
& |
T “Hydraulic close G3/8"
n A !
o ! Check valve
3
]| 1
=
. L
I i - i
: = [ T 1 o (o111
| o | |
& B & &) ‘ I 1%
i ] n, o] |
t 1]
1 | | | | G ©_@ |
This drawing shows swing awayupper arm, and dimensions of configuration 1, 2 and 3
_ 428 _
290 138
- | L 115 cag 135
= |
]
@ .
{3
al
2|
o
I‘_T
3 Check valve,
>
) - |
"
Slw
5| © 2w
@~ » ﬁ o
w
w
g 1
e 8
- — \
i ™ " !
n “Inductive sensor slots|M12x1 (2x)
g
5 R116 i
3 1
o
119 126
Hydraulic open G3/8", :f
047 Hydraulic close G3/8", '\ 15.5
f | e [0 ) - ,
3 3 ®
& 2& @] | g
I ] i o
1 2
. | w5)—|

ANTEC

OPSPANSYSTEMEN




I STANDARD AX SERIES IR

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

20-200 mm
3500 daN

890 m/min

0.06 mm

0.005 mm

20 bar

70 bar

48 kg

Same as SLU-3.1

Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

20-200 mm
3500 daN

890 m/min

0.06 mm

0.005 mm

10 bar

70 bar

48 kg

Same as SLU-3.1

This drawing shows swing away upper arm, and dimensions of configuration U, L and B
o 368 =
o 314 54
5|
"
T
8|
=2 I
2
T |
7
I
=
n o
£lo o
= T
b4 I
) Hydraulic open G3/8"
| 1 ) Hydraulic close G3/8"
= i
- *
i “Check valve
= 1
z R140
=
252 _
| lo 7 | |
—t - © ©
gig = @j Q d %
) 3 (]
| <]
| He o
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
= 485 =
— 314 161
=
W L 123 = 135
]
(=1}
[=3
=2 I
wy
5 T
i |
3
2 Check valve,
d \
I
@
n ol @ §I
B = 8 ~| Z £ ]
= = = | \ w0
Qg s © S&s
3 = :
1
p 2
1 I | "Inductive sensor slots M1fr?x1
- |
] 1
7}
=
(=]
4l
wy
Hydraulic open G3/8",
52 Hydraulic close G3/8",
1 [o | | Ire
T [
| A -
83 % @ He NGTE
\ e ® | e
i | [ [ =f—

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.

OPSPANSYSTEMEN




I STANDARD AX SERIES

Built-in pressure amplifier

Gripping range 30-255 mm

Total max gripping force 4500 daN

Max peripheral roller speed 890 m/min

Centering accuracy™ 0,04 mm

Repeateability 0,005 mm

Min operating pressure 20 bar

Max operating pressure 70 bar

Weight 73kg

Mounting holes** Front holes same,
new rear holes
needed

Gripping range 30-255 mm

Total max gripping force 4500 daN

Max peripheral roller speed 890 m/min

Centering accuracy™ 0,04 mm

Repeateability 0,005 mm

Min operating pressure 10 bar

Max operating pressure 70 bar

Weight 83 kg

Mounting holes** Front holes same,
new rear holes
needed

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.

T 434 _
= L 380 ]
'l T £4* 155 X
& |
o
2
T J
o
T
|
I
o) 1
PRl @
] '-@\ @
o &
oo Z|\ £ =
§x & S OO 883
e \[= // 3 =
o 1\ ﬁ .Illl ; @ e *, |
® N | 1
i 4 Hydraulic open G3/8"
\ 8 [ Hydraulic close G3/8"
5. a “Check valve
=
n !
5| R168
E. 1 1
i
o~ -
! 52
e | ° © 0O
g M A g
;]
228 @ (@] 8|| £
L T[F S| ! 2 ._
1 | a ||| -@E_ o
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
" 563 -
o L 380 . 183 |
| 146 155
% - b 199 -
=1}
= !
=]
3| '
i
I
Check valve,
=
m| 3
2 || o0
=M=l =T W™
O W oy —| |
o N
wy
®
-
-
- | 1
" E
Bl
H ;
=
=
= | \/
o Y Inductive sensor slots M12x1 (2x)
Hydraulic open G3/8"
@52 Hydraulic close G3/8", 15,5
I f WY i
I ! I P ] O g T
" p i
= BE\[ @ o] ok \ 1%
— T
1 L. ) ﬁl 1

ANTEC

OPSPANSYSTEMEN




I STANDARD AX SERIES

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

45-320 mm
5500 daN
655 m/min
0,06 mm
0,005 mm
20 bar

70 bar

148 kg

Front holes same,
new rear holes
needed

This drawing shows swing away upper arm, and dimensions of configuration U, L and B
=
n
o
o
o
2l i
—
™ -
T I
!
] S
=\ i
z) O @
@ =[N o
£l I8 91 / Z = = ol @
HERS : D'.‘-\Fn?%@@iea
= ] ~ | -
w o~ = / -
)
g <& o3
@) B >Hydraulic open G3/8"
o N
- O o . ["Hydraulic close G3/8"
i 1 e - J I -.
| : b ¢ b2 Check Valve
| - \
3 . & :
" i r @
5 : 1 1
3 R215 L&) sa0 1} o8 |
~
o~
T —
B | . ® 6
T £3
]
23 0 3
{ i . o -
oo
i o off
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
_ 668,5 i~
= L 464,8 2037
5 | 178 210
Q.
a
=)
- [
r~
o~
1 f
i
°] Check Valve
o | )
@) 2 T
n Ei
&l o = wl oo
B =
83 B @ 228
2 :
© @ 1
L] 1
o o
=]
0,

i =i, |
3]
il 1) 1
a 1
g —— -
< \/
r~ YInductive sensor slots M12x1 (2x)
o~
Hydraulic open G3/8",
e Hydraulic close G3/8",
f i | | . ™~
w 1 | 7
=8 & f | Q 5
| ' i® 3,
i ol
1 ] Himm

Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

45-320 mm
5500 daN
655 m/min
0,06 mm
0,005 mm
10 bar

70 bar

158 kg

Front holes same,
new rear holes
needed

OPSPANSYSTEMEN

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.



I STANDARD AX SERIES

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

il 537
=2
g
3
8 .
| [
Built-in pressure amplifier - I
|
Gripping range 85-360 mm
Total max gripping force 5500 daN g == 7
m| N H
Max peripheral roller spee 765 m/min - 2 - |
o 5o 1393
entering accura ,06 mm @ =
Y s & ; Of mi .

IR o e = gl
Repeatability 0,005 mm =%} N Hydraulic open G3/E"
Min operating pressure 20 bar B [ St dow 00

1 Check valve
Max operating pressure 70 bar [ :
-
. - 1
Weight 143 kg =
@
Mounting holes** Adapter plate §L
needed 2
I 12 _ s 7@_@7 ]
uw | 1 L E -
I 8 ] Q I
! I 0 - -
=@e @
1 sl— |
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
ot o 697.8 =
o |
n L 4928 2037
al 208,5 210
o
2|
a [
.
& [
Gripping range 85-360 mm Check valve,
Total max gripping force 5500 daN =1 =7
1]
Max peripheral roller spee 765 m/min £ ol wlolo
IR 295
Centering accuracy™ 0,06 mm a |*
- Q_ 1
Repeatability 0,005 mm /
Min operating pressure 10 bar 1
1
Max operating pressure 70 bar 1 |
Weight 156 kg %_ Inductive sensor slots M12x1 (2x)
=3
Mounting holes** Adapter plate =
needed |
Hydraulic open G3/8",
PR 1+ o Hydraulic close G3/8", % 155
: f | . a O
e - ek
g g2 [ 0 il '3
e s . = &1
| : =oH | |

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.

ANTEC

OPSPANSYSTEMEN




I STANDARD AX SERIES

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

100-430 mm
6700 daN
685 m/min
0,06 mm
0,01 mm
20 bar

60 bar

195 kg

Adapter plate
needed

il

27 (Lower=L)

W 621,89 i
L 5779 -
-
n 280 220
]
=1
s ==
e O -) 5)
d s co(® <) T
-1 S a
T —_ O 44
N T T
: Check valve
\\. @
. \ & _~Hydraulic open G3/8"
a@| e ?E'_‘
"
% @ 8 3| [ 2 2
8 3 - :— ] :
o i a 5
2 Hydraulic close G3/8"
I. @
y ] !
| o T A D26 (4x) o
l C ; =
! o ¢ Sf———
= 90 = ; e
W Reso S 19 5
% = 2145 44 215 42| 82
=
a
=
~
o~
- : 30 .
I I [ I o f
I 7 ® |
| EE=Y <
g 8 a1 & IERE:
{ .
i [ o =) 1
IIhIS drawing shows swing away upper arm, and dimensions of configuration U, L and B
- 809,2
fl’ \ L 577.9 2313
8|
=)
=
~
o
I
Check valve,
= \ I
|
] Q
ﬁi oo o
8| m— R
o)
&
—1

P | i ‘ ¥
| AW
| _"’2_,_,52_1 = \/ Inductive sensor slots M12x1 (2x)
214,5 |
Hydraulic open G3/8%,
- . Hydraulic close G3/8"
[ 1 o H : - Tel 1
[] o] @
L] 7 ,
Vo gy R
im h'_ & H op \ =
1 -
1 Q =)} 1

Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

100-430 mm
6700 daN
685 m/min
0,06 mm
0,01 mm

10 bar

60 bar
234kg

Adapter plate
needed

OPSPANSYSTEMEN

E DANTEC

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.



I STANDARD AX SERIES

This drawing shows swing away upper arm, and dimensions of configuration U, L and B
=) - 647.4 o
n
5 603,4
o
=%
=2
bt
Latd
VR F—
p——
Built-in pressure amplifier f
Gripping range 140-470 mm
Total max gripping force 6700 daN . "
& ~
Max peripheral roller speed 685 m/min @ ¥ b-{
~
Centering accuracy™ 0,06 mm 8
Repeatability 0,01 mm
Min operating pressure 20 bar
1
Max operating pressure 60 bar i i,
Weight 234kg I
. 2 \
Mounting holes** Adapter plate g Hydraulic open G3/8"
needed @ Hydraulic close G3/8"
_ @80
i 5] i |
o] T4 o
i o
S8 1] 2 D o (3
| . . o o
! L o =0 1
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
. 839.2
Er ] 6034 2368
305,5 = 220 G
% \
al
] )
e —
—— f
Gripping range 140-470 mm
Total max gripping force 6700 daN : Check valve,
~ H [
Max peripheral roller speed 685 m/min - e
. g 828
Centering accuracy™ 0,06 mm @ =|b| ®
~
. 5
Repeatability 0,01 mm o | |
N /
Min operating pressure 10 bar A
Max operating pressure 60 bar z‘-\
Ll /
LY o |
Weight 234kg | £
4] T = 5 g
Mounting holes** Adapter plate ] R300 44l 215 42162 |y Ynductive sensor slots M12x1 (2x)
o
needed §
2
_ @80 _
I 2 | [ ||| ° H o1
i L=} i
uwy i =l
e |EERITp
1 1 =0H A
Hydraulic open G3/8"7 /
*At constant pressure and clamping force, 20 bar. Hydraulic close G3/8"~
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.

ANTEC

OPSPANSYSTEMEN




I STANDARD AX SERIES

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

Built-in pressure amplifier
Gripping Range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

100-510 mm
6800 daN
685 m/min
0,10 mm
0,02 mm

20 bar

60 bar
252kg

Adapter plate
needed

80

Hydraulic open G3/8".,
Hydraulic close G3/8™

o 705 o
= L 661 4l
1
5 2925 = 260 =
al
al
2
]
i
=
Il
£ =
3@
~
A
| . | 1
= - I
[} oy
¥ 737 | = -2 =1} |Hydraulic open G3/8°
3 377.2 . 3 | 1% 'Hydraulic close G3/8"
host L 505 J 156 |
m
Check valve
80 (integrated in pressure booster)
T s = | w—
— !_ - 1T e = T
2 8’ 2 [] 3
1 )
! Il s e
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
s 938 -
2 \ L 661 i 277 Il
E 2925 260 —
al
2 RS 1
8 o
s (f
I I , Qo
A Check valve,
/ \ ' A
a |/ ?&a O\ s i
v |/ - -. Z|\ 2 :
=l e = AN = 5 ool o
Ofoul| o - T | prim | ﬁ c} mi [ 1E=d
@ wla a \(f 7 = | . —| @ P~
= |\ - g 1 * / 3 = E 1
e Y { o |
.l'll
o /
| | f
| 4
-
3 \
= | \Inductive sensor slots M12x1 (2x)
o«

145
98
29

Le]

il

Q | -

Gripping Range

Total max gripping force
Max peripheral roller speed
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

100-510 mm
6800 daN
685 m/min
0,10 mm
0,02 mm

10 bar

60 bar

280 kg

Adapter plate
needed

ANTEC

OPSPANSYSTEMEN

*At constant pressure and clamping force, 20 bar.

** Note: Same hole pattern, can interfere on the bracket.

Check drawings.



I STANDARD AX SERIES

Built-in pressure amplifier
Gripping Range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

250-680 mm
6800 daN
685 m/min
0,10 mm
0,02 mm

20 bar

60 bar
370kg

N/A

Gripping Range

Total max gripping force
Max peripheral roller speed
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

250-680 mm
6800 daN
685 m/min
0,10 mm
0,02 mm

10 bar

60 bar

395 kg

N/A

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.

847
=} 803 44
L 312
[
[o]]
[=Y|
2
«©
[3p]
y °© 0 \
| Q
=)o
g | O\ . =
2 - &N &
8 3l =ik
~ \ S B:. Z
N~ I~ ;
3 =
i \ \\
\ \\
\| “‘Hydraulic open G3/8"
o % o |
- \__ 935 (4x
" D35 (4x). “ ‘Hydraulic close G3/8"
= 341 108
[ |
3
S |
< |
S 'Check valve
(integrated in pressure amplifier)
@100
I [ : =
855 [ - o~ TIRE
2 L
Lo =
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
4\
=) N\ 1103
n N\ 803 300
g 312
Ql
2
o]
[3p)
] [)
y [
/ TO?
] o
o (©) =
" | ] 1
- o =z A B
Slo| | R =|\2o olo
© = @ \
gl s A2/ 35 \ 2
b \ S < H Y = U‘
~ H X
o \ / N\
\ / \
\ N\
) N
Lo \
° - “Check valve
o0l o
] \_ @35 (4x)
-
I 341 108 \ .
5] " \/Inductive sensor slots M12x1 (2x)
g
S
o]
[3p)

Hydraulic open G3/8"
Hydraulic close G3/8"

165
98

@ 9
144

ANTEC

OPSPANSYSTEMEN




I STANDARD AX SERIES

Built in pressure amplifier
Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

450-870 mm
9200 daN
457 m/min
0.20 mm
0.02 mm

20 bar

60 bar
1337kg
N/A

This drawing shows swing away upper arm, and dimensicns of configuration U, L and B
. 1244 .=
3 B 1200 - 4
5 I 640 T R
(=%
:)Q e =
= * { i
! \r‘--— ™ - '
I
> / \ Air barrier G1/8'
e VA 9 i
) W 1 - Coolant in G1/4
i \‘\O @I’ Hydraulic open G3/8"
— hY
‘:‘IJ NG O I i
£ E 2 Qo
g8 = 3 dictEEE
8 1
= Hydraulic close G3/8"
1
! Air barrier G1/8"
1 !
{ A |
= L 1
[ \\-,_,___
a:‘ v AR
g RE06 - 480 akL 585 135 Central lubrication G1/8"
-
o
L]
_ 160
I 1 o
82 ol 5
o bp Dl 0
1 ~ L3
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
2 1578 i
5 N 1200 __ 318  _
" L 640 oy 400 10
2 e Coolant in G1/4"
o ‘,/"
= f Ir) i
B oNE
1 o O e g |
I :
| i Air barrier G1/8"
i
i Check Valve
@
"
S 22 ge g
m -*
(=1
o

Air barrier G1/8"

f : 35 (6x) 3
| [ 7 - : e 1
5 (¢ 00 E—p—vs8 | |
n
= T 32
% RE06 < 480 ‘:_“ 585 | 138 Inductive sensor slots M12x1 (2x)
-
E Central lubrication G1/8"
Hydraulic open G3/8"
2180 Hydraulic close G3/8"
' | i [ I ] H T i
@ o — ~
@zl & »
! 1 {f \

Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min pressure

Max operating pressure
Weight

Mounting holes**

450-870 mm
9200 daN
457 m/min
0.20 mm
0.02 mm

10 bar

60 bar
1421kg
N/A

E DANTEC

OPSPANSYSTEMEN

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.



